64B-1tlc-(eth|dotlqg|dotlad)-(I2xcbase|l2bdbasemaclirn)-ndrdisc
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Indexed Test Cases

2. 10ge2plx520-dotlad-I12xcbase
4.10ge2p1x520-dotlqg-I2xcbase

6. 10ge2p1x520-eth-I2bdscale100kmacirn
8. 10ge2p1x520-eth-I2bdscalelmmacirn
10. 10ge2p1lx710-eth-I2bdbasemacirn

12. 40ge2plxl710-eth-12bdbasemacirn

1. 10ge2plvicl227-eth-12bdbasemacirn
3. 10ge2p1x520-dotlg-I2bdbasemaclirn
5. 10ge2p1lx520-eth-I2bdbasemaclirn

7. 10ge2p1lx520-eth-I2bdscalel0kmacirn
9. 10ge2p1x520-eth-12xcbase

11. 40ge2plvicl385-eth-I2bdbasemacirn
13. 40ge2p1xl710-eth-12xcbase
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